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Answer1
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Solve 32" —4x-2=0 o )
Give your solutions correct to 3 significant figures.
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Answer 2
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Answer 3
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Solve 3x*+6x-2=0 L,
Give your solutions correct to 2 decimal places. a2 + b X «+ C =0
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Answer 4
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Solve the equation  3x2+4x - 12=0

Give your solutions correct to 2 decimal places. 4 lg c o
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Answerb5
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Solve 3x* ~4x-2=0 o )
Give your solutions correct to 3 significant figures.
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Answer 6

CompPleTiNg THE S@UuAzs

. g . . o i
The expression x ‘=8)‘c + 21 can be written in the form (x — a) r all values of x.

Find the value of a and the value of b - o e

(a) Find the value of a and the value of 5. QC~<Q) :>C7g>c+(6
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Solve (x —2) =3

Give your solutions correct to 3 significant figures.
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Answer 8
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Write x2+ 2x 81pthef0rm(x+m) +n CCIWLVLE'T/I\[A s iE SQ\/W
where m and n are integers,
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Answer10

Solve x*—6x—8=0 o WHeg NumBér ¢

Write your answer in the form a + Jb where a and b are integers.

Cest wav s Comple NG THE CQuinres
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Answer1l

Show clear algebraic working.

(y+ x =7) x4
4y +4x =28

Add equations 1 & 2
9y +0x = 36
Y=4

Sub back into
equation 2
4+x=17
X=3
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Answer 12
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Solve the simultaneous equations
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Answer13
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Answer14
a1
Linear Simuraneovs EQUATIONS
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Solve the simultaneous equations . :
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Answer15

LineAt SwmutrmnEovs EQUATIoNS

Solve the simultaneous equations Use Bl mwation  WMETHoD
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